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$—F  FRITRX W

1.2

1l HRKe —32=0H—-FEr=0.619061208 , #£[0,1] EHE
HIBALh , AR PERERIE BB , B 6EH 1Rk 208 A
FLWED, [x—r | <0.00005 , BEESEPX? ’

B S f(x)=e"—3x.

KB x, %, oz, f(x) f(x)  flxy)

1 0 1 0.5 1. —0.28172 0.14872
2 0.5 1 0.75 0.14872 —0.28172 —0.13300
3 0.5 0.75 0.625 0.14872 —0.13300 —0.00675
4 0.5 0.625 0.5625 0.14872 —0.00675 0.06755
5 0.5625 0.625°0.59375 0.06755 —0.00675 0.02952
6 0.59375 0.625 0.609375 0.02952 —0.00675 0.01116

ECREE AKX EBER,L0.609375 B AMTHET , BE 15
KetHE , S (0.5)'"=0.00003 < 0.00005

2 Ex=0.4 ,AMx=0.6FF-Fx X (x—0.4)(x—0.6)=x?—x+0.2:
HOME, BE[0, 1] EMNNHEEME » €T EMELENE 1K
B BT B > LA T o S U R 0, BSEM [ 0.5
, 1] B MEREMRRR , MEAAEREREEERE S0 1 E4E
MEERAAE , COERRERSD

B 4f(x)=x"—x+0.24=(x—0.4) (£—0.6)

f(x)
~__ ——x

0.4 0.5 0.6




2 ERMMESH B R

BMAERME=0.50E ,

xW| T, Xy X f(x) o f(x)  f(xy)
1 0.5 1 0.75 - 0.01 0.24 0.0525
2 0.5 0.75 0.625 —0.01 0.0525  0.00563
3 0.5 0.625 0.5625  —0.01 0.00563 —0.00609
4 0.5625 0.625 0.59375 —0.00609 0.00563 —0.00121
5 0.59375 0.625 0.609375

BBAEXEHEE , BEGES
%| 0.59375—0.625 | =0.015625 . THKRER
| 0.609375— 0.6 | =0.009375 ,

LEMEFREARSER , LERA RS EMERHAR tnx — 2+ 2=0

@R, (CEBUNEENA) MM y=2— 2 R y = Inx W

HEEPEMAE f(x) =tnx—x+2BWAE, —@BE[ 0.1 0.2 ]
M, B3 —MzE(3.1,3.21M.%400.1, 0.2 ] ;2ME=MHAMRRE .

X oz, oz %3 &) fGx) fx)
1 0.1 0.2 0.15 - 0.40259 0.19056 - 0.04712 -
2 0.15 0.2  0.175  —0.04712 0.19056  0.08203
3 0.15  0.175 0.1625 —0.04712 0.08203  0.02042
4 ©0.15  0.1625 0.15625 —0.04712 0.02042 — 0.01254
5  0.15625 0.1625 0.159375

Bel3.1, 3.2] AEERMPALA

xH x, x, Xy Sf(x,) f(xy) flxy)
1 3.1 3.2 3.15 0.03140 - 0.03685 — 0.0026
2 3.1 3.15 3.125  0.03140 —0.0026  0.01443
3 3.125  3.15 3.1375 0.01443 — 0.0026 0.00593
4 3.1375 3.15~ 3.14375 0.00593 — 0.0026 0.00167
5 3,14375 3.15 3.146875 | ‘




F_-& sdrsrRIE 3
BMHZHOEr=0.1594 F1 x =3.1469 1% ,
4 FASEMERTASERORINES , LTNE—85 , Sie— A

EWEMR , EHERZ0.5%FRE,
B @El1.1, 1.2 ) =A%

Xz, x, X, f(x,) f(x,) f(x3)
1 1.1 1.2 1.15 ~0.09583 0.12011 0.00819
2 1.1 1.15 1.125 ~0.09583 0.00819 —0.04478
3 1.125  1.15 1.1375  —0.04478 0.00819 — 0.01854
4 1.1375 1.15 1.14375 - 0.01854 0,00819 — 0.00523
5 1.14375 1.15  1.146875 - 0.00523 0.00819 0.00146
6 .1.14375 1.146875 1.1453125 — 0.00523 0.00146 —0.00189
7 1.143125 1.146875 1.145 — 0.00189 0.00146 — 0.00256
8 1.145  1.146875 1.1459375 ‘

BE(0.5)" =0.004 , TitEE IR E L/ PRER (0.5)/1.1<
0.5% , 5LAEX 8 XEIF , BFIES 1.1459375 = 1. 1459
L) 0.4, 0.5 ] BRI

xE 1, X, x, f(x,))  flxy) f(xy)

1 0.4 0.5 0.45 0.504 —0.125 —0.0113
2 0.4 0.45 0.425 0.504 —0.0113  0.0461
3 0.425 0.45 0.4375 0.0461 —0.0113  0.0173
4 0.4375 0.45 0.44375 0.0173 —0.0113  0.0030
5  0.44375  0.45 0.446875  0.0030 —0.0113 — 0.0042
6 0.44375  0.446875 0.4453125  0.0030 —0.0042 —0.0006
7 0.44375  0.4453125 0.44453125 0.003 —0.0006  0.0012
8 0.44453125 0.4453125 0.44492 | |

BERLE 0.4450




s EANESIFEEIR

)@ [ 0.9, 1.0 ] BAA

K x, x, £ ) flxy) Sxy)
1 0.9 1.0 0.95 0.0298 -0.1057 - 0.0399
2 0.5 0.95 0.925 0.0298 —0.0399 -—0.0056
3 0.9 0.925 0.9125 0.0298 —0.0056 0.0120
4 0.9125 0.925 0.91875 0.0120 - 0,0056 0.0032
5 0.91875 0.925 0.921875 0.0032 —0.0056 —0.0012
6 0.91875 0.921875 0.9203125  0.0032 - 0.0012 6.0010
7 0.9203125 0

.921875 0.92109375

AP F 0.9210
emEm 1.1, 1.2]) Btk

XE x, Ty X, f(x3) fxy)  flay
1 1.1 t.2 1.15 -0.967 0.344 —0.3474
2 1.156 1.2 1.175 —-0.3474 0.344 —0.0011
3 1.175 1.2 1.1875 -0.0011 0.344 0.1643
4 1.175 1.1875 1.18125 -0.0011 0.1643 0.0762
5 1.175 1.18125 1.178125 —0.0011 0.0762- 0.0325
6 1.175 | 1.178125 1.1765625 - 0.0011 0.0325 0.0108
7 1.175 1.1765625 1.17578125

HIEWHR1.1757

1.3

512 L 3R RAE IS EAATF R +2? —3x—3=0, T
BB x=v3 , MBAESr=— 1M x=~v3 , RAAHEEE
GEEYE V3 RASRER , B0 RS R RREEE .



S
-8 ARELTREAME -

B (-2, 1.5)EREMMH

E:S - D Xy Xy f(x,)  fx,) f(x,)
-2 —1.5 ~1.63636 -1  0.375 0.2051
2 -2  —1.63636 -1.69825 -1  0.2051 0.08596
3 -2 -1.69326 -1.,72085 —1  0.08096  (.02788
4 -2  —1.72085 --1.72842 -1  0.02788  (.00915
5 -2 —1.72842 —1.73088 -1  0.00915  0.00296
6 -2 —1.73088 —1.73167 -1  0.00296

B x, , HAMEBRENFEEHO KR -3 BEME

6. BHEAS , EHRAARABEx=—1.5Fx=-1.7, HEBELRERE ,
FUAETFRBENFRZEG , MAEREMTT , EHERE , BlIEX
S RE , ALEREREE/DEBANMST? FOEE 1.5 - 1.1 FE]
BN - HBITMUERE-1.5/—-1.2587

el
R x, x, %, flx,) f(x,) f(xy)
1 —1.5 1.7 ~1.75168  0.375 0.077 - 0.0514
2 —1.75168 —1.7 ~1.73099 —0.0514 0.077 0.00268

3 —1.75168 -—-1.73099 - 1.73202 -0.0514 (.00268

B-KBHNRMEE , B, SHABAE , ERSAER B - 1.73202
B S/NEUR A

T 0 x, X, X, Sl f(xy) Flxa)
1.5 - 1.1  —0.73469  0.375 0.179
1.5 -1.25 4.5 0.375 0.35938

HREL - 5, i.1] [Eﬁﬂgﬁﬁéﬂ?‘ﬁ@x =1 EFH, Rl Lo

1.5,
—1.25 | RS, o, KB A5, HEEREKR , S LA e 20
BetE o

T IR e L ot ACE £ it W 1 e 15



6 MERIBESHRIBHMN

7. BREMFRy=x—x+ 1 NMHB y=2x* 253% , SR> EHE
BH 30 B A0 RS RES R T x 2 .
2 ' v

y=2x?

y=x*-x+1

I

G f(x)=x*—2x* —x+1
Al f(x) B x WBA=BZHEZFE[-0.9,-0.8],[0.5, 0.6 ]
{2.2,2.31=@BEMA,

¢ S Xy x f(x) f(xy) f(=xy)
1 —0.9 ~0.8 —0.80175 —0.449 0.008 0.00078
2 —0.80175 —¢.8 ~ 0.86364 0.00018  0.008  —0.27226
1 0.5 0.6 0.55459 0.125'3 ~0.104 0.00086
2 0.55459 0.6 0.5549  0.00086 —0.104  —0.00004
1 2.2 2.3 2.24470 —0.232 0.287  —0.01173
2 2.2 2.24470 2.24708 —0.232 —0.01173  0.00052

L FIA SRR M = EEB A4 5 =— 0.80175 , 0.55496 A
2.24708 & ,

8 (RGN EEREEL, (b)%ﬁftﬁ{ﬂa??ﬁﬂiﬁ%ﬁﬁﬁi’c piA: G

5 2 MBI E e I fE
M @QFAREAEER " —x—2= 018

X x, x, x, flx)  flxg) f(xy)
1 1.1 1.2 1.14438 —-0.09583 0.12011 —-0.00389
2 1.14438 1.2 1.14612 —-0.00389 0.12011 - 0.00015
3 1.14612 1.2 1.14618 -0.00015 0.12011 —0.00001




-8 EBREFBRIAOE 7

BB IERR ARG

K& X, X, X, Fl F2 f(xa) SAVE
1 1.1 1.2 1.14438 —0.09583 0.12011 -0.00389 —0.09583
2 1.14438 1.2  1.14776 -0.00389 0.06005% 0.00337 —0.00389
3 1.14438 1.14776 1.14619 —0.00389 0.00337 -0.00005 0.00337
@ BEAHER Y — 2 —22x+1=0 HR/PERE

x¥ x, P X, flx,)  flx,) f(xy)

1 0.4 0.5 0.48013 0.504 —0.125 —0.08010

2 0.4 0.48013 0.46914 0.504 —0.08010 —0.05512

3 0.4 0.46914 0.46232 0504 —0.05512 —0.03957

4 0.4 0.46232 0.45778 0.504 —0.03957 —0.02920

5 0.4 0.45778  0.45462 0.504 —0.02920 —0.02195

6 0.4 0.45462 0.45234 0.504 —0.02195

(b) F3 18 IE AR ¥ A H3:

x¥ x Xy X, F1 . Fo f(x,) SAVE
1 0.4 0.5 0.48013 0.504 —0.125 —0.0801 0.504

2 0.4 0.48013 0.46914 0.504 —0.0801 -0.05512 -0.0801

3 0.4 0.46914 0.45673 0.252* —0.05512 —0.02679 —0.05512
4 0.4 0.45673 0.44678 0.126* —0.02079 —0.004 -0.02679
5 0.4 0.44678 0.44403 0.064* —0.004 0.00233 -0.004

A D —r

9,
M DO WHILE

ERARRHAMBREANRA , RUHEREORERE .

| x, —x, | = tolerance value 1 , or

! f(x,) | > tolerance value 2 ,

Set

x, =x, —f(x,)

Xy — Xy

f(xg )'_.f(xn)




B FERI®AE S H R RASE RS

Set F1=MAX ( x, z, z, )
Set F2=MID (x, x, x, )

Set x, = F1 .
Set =z, = F2
ENDDOC

1.4
16, AaEER e — 32 =0hE s =-0.5218 , WRERIAFASLANE -
W flx)=e* — 3x°

Filzy=e* ~6x

x, =— 0.5

3
FCa) _ 4. 4602196

X, =%,

_ 'f-,’(x!\
X, =Xy — f’, ((;:; = - 0.4589635

f(xy)
.I; :xa - Ty

f'(xy)
B8 r = -..458962

= = (.4589622

R -3 S0 NEE—HERx=-0.5 , BAE—RE K x=4.0.
A4 R H AR

W f(x) =e®—3x?
fi(x) =e*—61x

X, =4.0
e .
X, o x; — __‘._.g_{r_l__'__ = '; 78 43611

f ’ (x . )
f(s,
N
fo(xy)

T, X, -

x, ¥, = = 3.7330838



FB—-F FHREgLHEIANE 9

12 @F4REXHEEE I0TER  EHRSRERESHX , MENER,
B4 P(x) =a, 2" + a,x" " +ooees T anx tany, MABUGE , §--
B BR , BESREXRGTEE P(2) B P'(x)
e @f(x)=e* ~x-2
f'ix)=e —1
2, =1.1
f(x,)
f(xy)
(=)
Sf'(x,)
f(z) =2 -2 —2x+ | ,HRAKGRE,

= 1.147817

12 '—:xl -

= 1.146195

Xy =X,

x,=U5J i—1 —2 +1
T 0.5—0.25-—-1.125
1—-0.5—2.25--0.125

0.5+ 0
] + 0 —2.25
~0.125
%, =0.5- ———— = (.14444
—2 .25
x, =0.44444 1 -1 -2 + 1

(0.44444 — 0.24691 — 0.99862

—0.55556 — 2.24691 +0.00138
0.44444 — 0.04939

1 0.11112 — 2.29630

0 (0138 -
xy = 0.44444 - o 22 00440504
- 2.29630

™

RO SIRGNTAL [0 1T samee 4 S WU AT OM: T KNG | Tinaa et | e A s < 4o vp -



10 FEH St RIRE I W

f(x;)

2 =X, T 3 = 0. 0
X x F(x)) 92078
f(xz)
sy =%, ————— =0.9210
o TX f'(x,) 92102

flx)=3x+4x*—-8x—1

x,=1-2| 3+ 4 — 8 —1

+ 3.6+ 9.12 + 1.344

3+7.6+1.12+ 0.344
"+ 3.6+ 13.44

3+11.2+ 14.56
0.344

% =1.2 —7ro-= 1.17637
x,=1.17637| 3 +4 —8 -1
3.52912 + 4.15155 — 4.5272
3+7.52912 — 3.84845—5.5272
13.52911 + 13.00857
3 +11.05823 + 9.16012
%3 =1.17637ﬂ:9—5_)1'—2—(2)%§—-=1.7797

»MbO 10 I=1,N
A(I+1)=A(T1+1)+A(1) =X
10 CONTINUE
DO 20 I=1,N-1

A(I+1)=A(I+1)+A(I) *X
20 CONTINUE

13 @BE4EER 2 =NLUERBRNTHRWERN, », B VN B8 s -
| 1 N

Xi+, =—(xe+—) ,
2 Xi .

bLEEHRN 2 =K G EMMA S RBURA



L

M @f(x)=x*—-N

f'(x)=2x
Sf(x:)
Xiy = X0 —
S (x¢)
Itz—N
= Xi—
D x¢
1 N
=g ler )

WHILE | f(x(I))| < tolerance value

. 1 N
DO X(I+1)-f5EX(I)+3R7TJ

X(N=x(I1+1)

ENDDO
) f(x) =x° —N
f'(x) =3x°
xia —N 1 3
— — = N
Xi+ X 35 3x‘2(2x‘ + )

1 N
:-"5"(211‘*‘ z)

f(x) = x*—N
f'(x)=4x%°
xc‘-"N
Xivy =Xt —
4113
=1 (3x¢ +N)
4 xé ‘
1 N
._'—&—(Bxi_'_ x‘a )

14 @QURBEIHEEGEEERX , 88

. A+B N
= N=AB
VN 1 +.A+B , Hch

bFAE@PHHENEE (RE/RE) KPR

R FREMmR

11



17 BRSBTS

1 A-B
s arg”
B @ax=A
1 N
x;::-;é—(xo +-;—;—)
1 N
=— (A+-—
5 (AT
1
=—(A+B
9 )
1 N
z‘%‘[;-(flﬂ—B) + N )
—( A+ B
. 2( )
A+ B N
= +
4 A+ B
AtB B AB
A+B
bARFEZE =
vAB
_(A+B)*+4AB— 4VAB(A+B)
4 JAB( A+B)
_ (A+B-2AB)*
4VAB(A+B)
. 1  A-B _,
- 8(J4+B )

5. 4P(x)=x'+4.62>+6.6x°~112—~14 , , ABERERP(—1)
o MP(2) REMBSEANE, HP—BE=XK , REBBR=XK%£H
AWERE , REAZXRRHBEHEE , EES B

B -1 1+4.6+6.6-11-14

-1 —3.6— 3+14
1+3.6+3.0—-14+0




